.

increase decrease

mare than reduce

Surmn ' fewer
71 !
<

add take away
altogether subtract

tetal rrLinus

plus difference between

|

My 100 Square

X

times bH

multiply by
lots of
groups of

product of 4

o'clock 3<7 8>2
anti—r_lor_kwsy Nclur_kwise pcs @ < >. more
an than
quarter quarter < >
to past

divided bH
shared between

divided into

divisible by
shared equally

half past
3am = 0300 6:30am = ge:30 9:45am = gg.45
3pm =1500 6:30pm = 1830 9:45pm = 2145

1|2 |3 |4 |5 |6|7

11 (12 |13 |14 |15 |16 | 1F

21 |22 |23 |24 |25 |26 | 27

31 |32 |33 | 34|35 )36 |37

41 |42 | 43

<

45 | 46 | 47

51 |52 | 53

b4

55 | 56 | 57

61 | 62 | 63 | 64 | 65 | 66 | &7

TL |72 |73 |74 |75 |76 |77

81 |82 |83 | 84 | B5 | B& | BT

91 |92 |93 |94 |95 |96 | 97
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Fractions
1 1
% 05 50%
} 025 | 25%
3 0.75 75%
4
1 0.1 10%
10
1 0.2 20%
5
% 03 33%

KU right angle)

ERDED Be

Hundred Ten
Theusands | Thausands

Thowsands | Hundreds

Tenths | Hundredths

length

width
height
perimeter = width
width + width + length + length
|+ X - = - 5% -6=-30
- X 4 = - S5 X 6=-30
- -x-=+ -5){-&-=3'D

1 ecentimetre (em) = 10 millimetres (mm)

1 metre (m) = 100 centimetres
1 kilometre (krm) = 1,000 metres

1 kilogram (kg) = 1,000 grams (g)
1 tonne = 1,000 kilograms &

1 liere (1) = 1,000 millilitres (ml)
1 litre = 1,000em®
lems 1ml

2D Shapes (Polygons)
square Atrlunq

OQO

:Jer".tuqun FEXGCJDI‘" CLGE]UFL
9 wOoO Al
cone cylim:ler

cube cuboid sphere pyramid

Ocirtle

rectangle

faces = flat sides
edges = where two faces meet
vertices = where three or more sides meet (corners)

s y-axis
4§
(-4,3) 3
2 %x(3,2)
1 5
{ T T T T T ‘ T T T -rr-ﬂlr‘:‘:s
= 1_1_ 2 3 4 5
(-3, -2) X 2




